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(iv) average inventory in kg.
(2)
9
> 8 | 1510
-8
§ ; .........................................................................
= =
I |
= oo
5 (=
R R e Ll A A il liitriitiE
o =
; g Marshall Ltd uses Material A60 in a separate production process.
m (=)
> a The following information relates to Material A60:
Order quantity 2000 kg
Purchase price $28 per kg
Monthly usage 4500 kg
Minimum inventory 1800 kg
: Ordering costs $380 per order
, 8 é Inventory holding costs are 20% of the average inventory holding per annum.
2 <
e ‘w (b) Calculate, for Material A60, the:
T -
§ e (i) annual ordering cost
S o (2)
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(ii) inventory holding cost.
: (3)
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(i) capacity
(2)
(iv) efficiency.
(2)
(c) Prepare a statement, using the four fixed overhead variances you calculated in
(b), to show the total fixed overhead variance.
(2)
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(d) Explain the difference
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~\
(ii) Work in progress
(3)
Details $ Details S
(iii) Finished goods
(2)
Details $ Details $
(iv) Production overheads
(4)
Details $ Details S
J
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(b) Evaluate, based on your calculations in (a), which of the two projects the company
should invest in.
(2)

(c) Calculate, for Project Aye, the:
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(i) internal rate of return
(4)

VYV SIHLNIILEMION OO
DO NOT WRITE IN THIS AREA

(i) discounted payback period (in years and months).
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N
The company is now considering using activity based costing (ABC) to calculate the
production costs of each product.
The following overhead information is available for the period:
Activities Costs ($) Cost drivers
Inspection 120 000 Number of production runs
Machining 112 200 Number of machine hours
Packaging 49 500 Number of orders
Material handling 127 100 Quantity of material used
Exe Whye Zed
Number of production runs 150 200 250
Number of orders 150 175 225
(b) Calculate the production costs (to two decimal places) for one unit of each
product using activity based costing.
(12)
............................................................................................ )
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The Production Manager for Product Exe is arguing that the company should change
from using absorption costing to activity based costing.

(c) Evaluate absorption costing and activity based costing, with reference to your
calculations, and recommend to the company which method should be used to
account for the overheads.

(6)

(Total for Question 5 = 24 marks)

TOTAL FOR PAPER = 100 MARKS
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